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Define fast and slow chemical reactions with examples.

: . 2
frerferin s ) T R au e 3 Tt - 2]
4 NH,(g) + 50,(g) = 4 NO(g) + 6H,0(g)

Write the equilibrium constant and its unit for the following

4 NH,(g) + 50,(g) = 4 NO(g) + 6H,0(g)

reaction :

it s @R 2 8, T et wh ek A8 € & | 7 2]

All ores are minerals but all minerals are not ore. Why ?

w9l 1 3t Hfa R ¢ 2]

What is the dual nature of light ?

R 3 % gfay % an § | uftr it 9RT t YIS a% Farted B & | I Fe

41 &1 HH qY1 9 fafEu | (2]
The current of I ampere flows through a wire of resistance R ohm for t seconds. Find

the heat energy produced with its unit.

] FT R 7 WARHT e dH o 3T g9y | 2]
What is plasma ? Explain the difference between plasma and serum.

el § et o HEed 1 FHHATA | , 2]
Explain the importance of water in plants.

TR w8 7 2]
What is Apospory ?
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If % = g‘ then find the value of -

7a+10b

3. T e A T B’ A A 294 Wd 372 3k W fRU | 3fe BT A 62%
WA Tou, a1 SAfyesan 37 3 A’ gRT i 3Tehi 1 Sfdwrd i I | 2]
In an examination, ‘A’ and ‘B’ secured 294 and 372 marks respectively. If ‘B secured
62% marks, find the maximum marks and the percentage of marks secured by A’

4. Toagem fafa & 3w & 989 x 989 1 W HA HITT | 2]
Using Vinculam method, find the value of 989 x 989.

5. % gevEd A0 15 T § 95 Qe (W) s B Fae wfomrawy 3w 3w
573 g T 2 | 15 UTiE] o qveTd ST 3Ed &1 B ? 2]

A batsman in his 157 inning makes a score of 95 runs and thus increases his average
by 5 runs. What is his average after 15 innings ?

6. Trciferfaa it § e A 3TEL 1, 4. 25, 256, 3125, 46656, 823543 F ¥ TH I7®
Brew ol 37 v fm @ o m 2 | Fefofea § @ 98 3 o1 2]
(A) 46656 (B) 25 (C) 823543 (D) 3125
The numbers given in the series 1, 4, 25, 256, 3125, 46656, 823543 follow certain
pattern except one number. Choose that number from the following :

(A) 46656 (B) 25 (C) 823543 (D) 3125

qm-3

I quad. #= a2 7 2]
What is USB (Universal Serial Bus) ?

2. ooR fet % am ¥ ga 3§ sgwen Fife | (2]

Discuss Laser Printer in brief.




3 mﬂzwﬁﬁwmiwmg@mwt? 2]
What is Bharat Net Project and its main purpose ?

6. I Q. W Tey T, & ferfad | [2] |
Write full form of TUCN and WWE |

s 2] i
What is Cryopreservation ?

8. ¥ wRES (St ferbe) g - 2]

What is Project Elephant ?

9. ;ﬁﬁﬁz-ﬁqaﬁﬁaﬁ%%{&ﬁa—ﬁmw%?

What is bio-control to prevent insects in agriculture ?

10. wﬁwﬁaﬁm@mﬁmmﬁml [2]

Explain nuclear fission and nuclear fusion.

(2]
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4. T I T e o wifreft 9w o @ o [4]
How high density and low density polythene are prepared ?

8. 509R WfH & 10 goai F 10 5% yfafew 30 foem oo Jem W frad freiae e
ferega =il = 2t o 4]

How many kilowatt hour electricity will be consumed for 10 bulbs of 50 watt each
are used for 10 hours for 30 days ?

k
9. faggm %aﬁ%ﬁﬁgmﬁgaﬁammﬁgaﬁmﬁqﬁww% ? T farg
aﬁm%m%@ﬁgmﬁgﬁ?ﬂmﬁmﬁgﬁﬁmww%@l [4]
; Define electric intensity and electric potential at any point in electric field.

Write down the formula of electric intensity and electric potential at any point due
to a point charge.
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14, To-FAEA @ G - qerrer faao A [4]

Give a comparative account of Megasporogenesis and Microsporogenesis.

15, & F1 UFH §1 ) 9B ) gugmEd | [4]

Explain the mechanism of blood clotting.

"R -2

7. for o 8w T = 15 fed/ae 2 | 7@ e Tl fom § e
30 fat et 2 3k fi o S foam F amow e g W 4 e 30 fire H g 2 |
78 F1 g H T qA3C | [4]

Speed of a boat in still water is 15 km/hr. Boat goes 30 kms upstream and then returns
downstream to the original point in 4 hours 30 minutes. Find the speed of the stream
of the river.

8. T AR 4 30 Tl /T I = § TR O R AU I % 4 gl 7
70 20 oz %1 ¢t & wga @ | 7 a8 40 et /v 1 91t @ S 2, @ FTH
10 e TEwt e # | Wi % R a3 s e g R 7 4]

Sohan covers a certain distance between his house and the park by cycle. Having a
speed of 30 kmph, he is late by 20 minutes. However with a speed of 40 kmph, he
reaches the park 10 minutes earlier. What is the distance between Sohan’s house and
the park ?

9. ﬁmmmwmwsoé,ﬁmmmﬁi [4]
a 0-10 10-20 20-30 30-40 40-50

smafa 5 6 10 ? 13

Find out missing frequency in the following frequency distribution if arithmetic mean
is 30.

Class 0-10 10-20 20-30 30-40 40-50
Frequency 5 6 10 ? 13

T — BT ——
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Write short note on E-learning.

1. =R® @ Fawy yafeat &0 8 7 wwE § g% e A | [4]
What are endemic and endangered species ? Give its examples in India.

12. F9H & F v fafed | (4]
Write about the effect of Ozone depletion.

13. TSI ST67 % A TH S T ) AR % an § fifaw | [4]
Write about the benefits of Electric Vehicles and the challenges of their use.

14. F99 $IY T4 38 Uged % 9) ° GHE | [4]
Write about sustainable agriculture and explain its importance.

Qg -3
Section — 3
(3T <R FIeg—HIH1 — 100, 37 — 08)
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5. wHifed s s A sftefis fafy forfy wd weifes s @ frefafea D

4 yftafda # aret TamfE sl @ el fifo . [8]
(i) Tfae wHiee (i) THifeH TlREERS
(i) THifea Fmde (iv) THRMEE

Write the industrial method for the preparation of acetic acid and describe the chemical
reactions for the conversion of acetic acid into the following compounds :

(i) Ethyl acetate (ii) Acetic anhydride
(iii) Acetyl chloride (iv) Acetamide
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10. mmmﬁmuﬁﬁum;@wmmﬁsm%nﬁﬁu
SR 0 A 93 |, A wwgew whw & q@ 7@ S | (8]

Derive an expression for the equivalent resistance of the resistance connected in
parallel combination. If three resistances of 5 ohms are connected in parallel, then
calculate the equivalent resistance of the combination.

16. IS R IF, $HS T = i i 1 v S | (8]

Describe the role of liver, lungs and skin in excretion.

| -2
10§ & T IR H AEES g - 8]
(I) A.B.C. D, E91 F U TRaR % ®:; e 8, & faf= &3 § @ & 39
% s, shim, sreus, Soffim, 76 @ verus |
(1) e % faftr o dmar & wfer 0, o g - fEif m
TH-Tsh T L&l 2 |
(I11) TRER &1 FHI TELAfear I W R &l 2 |
(IV) C. HTTeTaT ! BT T &l ¢ |
(V) A, 51 S/ 8, WIFGR 31 §9a1 i 0 |/ 78 &l |
(VI) D3 @ Sfaet & 7 TS 2 a1 IPhaR 1 T T/ &l 2 |
(VII) B &fifra & 91 E 9a9s 2 |
IR T AHHH % U WA B T G b IR AU |
(A) Frafaftga § @ SF-91 9907 (399) @8 TE R 7
(a) C-F@WH  (b) B-FSR (¢) F-7d (d) F-=ha
(B) fr=ferfiga § & #-51 §9H (W) 981 2 7

(a) A - WTAIR (b) FLAYF - guaw
(c) T&9F - AT (d) 78 - YA
(C) frafafea da d + 2 7
1 (a) C (b) D (c) F (d) g At 2

(D) fg fA C R W a1 8 36% W A mwaF wa g 7
(a) B (b) D (c) BIE @ A




Study the following information carefully : _
(N A.B.C. D. E and F are six members of a family, each of them engaged in
different fields - Doctor, Lawyer, Teacher, ngineer, Nurse and Manager.
(I} Each of them remains at home on a different day of the week from Monday to Saturday.
(I Lawyer in the family remains at home on T hursday.
(IV) C remains at home on Tuesday.
(V) A, Doctor does not remain at home either on Saturday or Wednesday.
(VI) D who is neither the Doctor nor the Teacher, stays at home on Friday.
(VII) B is an Engineer and E is Manager.

Give the answers of the following questions based on the information given above.
(A) Which of the following combinations is not correct ?
(@) C—Teacher (b) B-— Engineer  (¢) F—Nurse (d) F - Lawyer

(B) Which of the following combinations is correct ?

(a) Lawyer — Tuesday (b) Teacher — Wednesday
(¢c) Manager — Friday (d) Nurse — Friday
(C) Who is Nurse in the following ?
(a) C (b) D (c) F (d) Incomplete information
(D) Who remains at home on the next day on which C stays at home ?
(a) B (b) D (c) BorE (d) A
1. (A) %ﬁmwﬁmﬁ%&ﬁmaﬁraﬁmw%mﬁm%‘m@m#
F oM 7 Hifdw | (4]

(B)W%Wﬁd@ﬂ%ﬂ@ﬁmﬁml [2]

(C)aﬂﬁﬁﬁtmrﬁa?ﬁqm%m%%ql 2]

(A) Write the rule for finding square of a number in Vedic Mathematics and hence
find the value of 952,

(B) Writc anote on the number 1729 with reference to Ramanujan.
(C) Write the names of three books written by Varahmihir,

e -3
5. WWW%WW@qﬁWW: 8]
R IE: (i) WA, (iii) 3) ¥ 45 (iv) fdfre
(v) B (vi) fem (Vi) TS (viii) eq |
Briefly describe the functions of the following network devices :
(1) Modem (i1) NIC (iii) RJ 45 (iv) Repeater
(v) Hub (vi) Switch (vii) Router (viii) Gateway.
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RS IR N
Explain briefly
(@) Radioactive waste

(d) E-waste.

6. . Fuw @ AA I\ & an N faeqa faawon ARa va g @ va wifa & an
R fafeR | (8]

Explain in detail about Bt cotton and Bt brinjal and its advantages and disadvantages.

WUE - 4
Section - 4
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12. 99 fou o g-ard @ sere i qen @ wsnaia vl 3w G | [10]
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FW feu mu fam § 7W%ﬂ%mﬁﬁmwuﬁmaﬁmw% | Tizensi
! T FHEEE 32 9E 2 |

mmﬁAaBﬁﬁwEﬁﬁwmammmw FIE 2 7
«2;mcﬁnﬁmmam5ﬁgmmmwm%?

(3) T=2 F 1 o foherft sowem 2 -
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(5) =t 7= 6 FEE 5 Faa T 2 7

Study the following Pie-charts and give the answers of the questions based on these
Pie-charts.

Male

In the above figure, percentage of male population of seven States is shown. Total
male population is 39 lacs.




Female

In the above figure, percentage of female population of 7 States is shown. Total
female population is 32 lacs.
(1) What is the ratio between male and female population respectively of the
States A and B jointly ?
(2) What is the ratio between the female population of State G and the male
population of State E ?
(3) What is the total population of State F ?
(4) How much percent is the female population of the State ‘C’ of the total
population of the same State ?
(5) What is the average of population of all the States ?
HYAVOR

(A) T gma o &1 3efieam ‘A’ ‘B’ &, ‘A 3 F 99 7al & 60% Td I
fohu | et Tl (5 ATE) % 15% Hd 3199 9, d I9figar ‘B’ % e § I W

99 wal i §EA1 {1 Hie | [4]
(B) ‘A’ 60% WHa & Heg SeTdl & 91 ‘B’ 75% HHell § Hed S 8 | T |

a2 H Fd U fopae wferwrd ATl 3 9 UF gEL T fatlg R EeRd @ 7 2]
(C) T4,700H A, B CHZTH YR qic1 T fF A:B=5:6TMB:C=10:13

& | C 1 feem 3 e | (4]

(A) In an election between two candidates ‘A’ and ‘B’, ‘A’ got 60% of total valid
votes. If 15% of total votes (5 lac) were invalid, find the number of valid
votes polled in favour of the candidate ‘B’.

(B) ‘A’ speaks truth in 60% cases and ‘B’ speaks truth in 75% cases. In what
;;ercent of cases are they likely to contradict each other on stating the same

act ?

(©) ?_4,700 were divided among A, B and C such thatA:B=5:6andB:C=10: 13.
Find the share of C.
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F TEERT | p-n Y TR TR TR S A@R 7

. . . . . = = 7 nd - e
What are intrinsic and extrinsic semi-conductors ? Explain n-type and p typ
semi-conductors. Explain how a p-n junction is formed.

HYQUVOR

TR $ EEA S 9 9ol IR qun g3 s s aiea Sl aneed |

Describe the structure of Nephron and explain the mechanism of urine formation.

-3

17. 33SE1 8 H9 7 9930 € 7 e A W @R U9 G0 SR 3 i |

What do you understand by wildlife ? Write about the threats to their existence and
conservation.

[15]

HYFVOR

e UGV 1 R 7 &1 YWV % YH@ FRO UE PR O % 39 9 Y oy
forfam |

What is soil pollution ? Write an article on the main causes of sojl pollution and
measures to control it.






